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Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C320201
Subject Name: THERMODYNAMIC & HYDRAULICS
Time: 10.30 AM TO 12.00PM
Instructions:

Attempt all questions.

Date:8-06-2017

Total Marks: 70

2. Make suitable assumption wherever necessary.
3. Each questionis of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y& Wa [Aseul.
Boiling water in a close pressure cooker is the example of,
1. A. | Open system B. Close system
C. | Isolated system D. None of the above
ol Yar §52 Ul Bsaid well slof GeleRwl B,
q. AUlust RAen B. | scllos Rzent
C usadzs Ren D. 1 Qs ve «él
For an isolated system, between system and surrounding,
2 A. | Only mass transfer is possible | B. Only energy transfer is possible
) Neither mass nor energy D.
C. | transfer is possible None of the above
USAA2s RArer 12 Reu wa yAGSoL a2
A | 85 M glugR wsu B. B | 55c Gl glsR asu 8.
2. ;
C. | Gad wal 1 glug? asa | D [ As wal «él
ot8l
Following of which is not a system property,
3. A. | Pressure B. Temperature
C. | Density D. Heat
o{lAott Higll sall yeucll ojeiud ol
3. £ 6LLRL B. | quunlet
C | uatel D | awu
Following of which is not the unit of pressure,
4. A. | Newton*meter” B. PSI
C.| BAR D. | Atmosphere
ol Aott Hizll 520 £olel oll BsH el
Y. ojeatx{le? A RV(ENEYEES)
C oz D. | aletarel
Following of which is the example of extensive property,
5. A. | Pressure B. Volume
C. | Temperature D. Specific Volume
U, | ollAou el sal A&l oja] of GelgRWL B,
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A | gael B. |s¢g
Co | diumtat WA 4ls se
Heat energy and work energy are,
6. A. | Point function B. Path Function
C. | Intensive property D. | None of the above
Gudl Gl ual sl A ... 8.
5. |A | W2 gosst B. |y $52et
C. | g¥allet oyl As Ual o8l
The unit of Entropy is,
7. | A. | I¥°K B. | JI’K
C. | J/Kg*mol*°K D. [ None of the above
Azl ol AsH ....... 8.
9. TA | ¥k B. | JFK
C. | ¥WKg*mol*°K D. | 25 uel o8l
Mixture of ice and water is the example of,
8. A. | Close system B. Isolated system
C. | Heterogeneous system D. | Open system
Wl Al 612s of MR A ... of BELERQY B,
¢. | A | sclly Rren B. | wsaaA2s Rren
C. [ fleAwellan Rren D. | alluet Rren
According to Boyle’s law for perfect gas,
9. A | VaT B. Val/P
C.] VaP D. PaT
ollet oll Pl yorol 2ued cuy w2
C. VaP D. PaT
The ratio of two specific heats (Cp and Cv) for air is equal to,
10. Al 0.17 B. 1.41
C.] 0.14 D. 1.7
gall 12 ol ¥UA8ls éle(Cp ol Cv) otl 2RITR KA
0. TA. T 017 B. | 141
C. 0.14 D. 1.7
If a heat engine achieves 100% thermal efficiency, it violates
11 Second law of
’ A. | thermodynamics B. | Zeroth law of thermodynamics
C. | First law of thermodynamics D. | All of the above
ofl A5 gle Woyeat 100% U AR Andl A dl arlsausfls o sal oflan o
Geeluat 53 O,
q4q.
A aalstasudls ol ol @an | B | sndlstasinlls ol got Rant
C. | auilstaet{ls olyat Rast |- | As wal «dl
The first law of thermodynamics is the law of
12. A. | Conservation of mass B. | Conservation of momentum
C. | Conservation of heat D. | Conservation of energy
alstaeials dlyad Qan A ... dl Qawu 8.
1R. ['A. T Conservation of mass B Conservation of momentum
C. | Conservation of heat D. | Conservation of energy
A perpetual motion machine is
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A. | An inefficient machine B. | A thermodynamic machine
13 A hypothetical machine which
’ violates laws of
C. | thermodynamics D. | A non-thermodynamic machine

(22 o A A ... 0.

As Agl{lzie Halat As yulsaculs Hallet

A B
3. |G | As scudlls nalla @ D. Qg ollet arilsastils Hallot
arlsaet{ls ol [Aan of
Geeidlol 53 B
Kelvin plank statement and Clausius statement are related with,
14 A. | Zeroth law of thermodynamics | B. | Firstlaw of thermodynamics
) Second law of
C. | thermodynamics D. | Third law of thermodynamics
Scclotietls wal sellllad of atse Aol WA Boitlld B.
¥, alsiaetils ol gort Aan | B- | snllstasiadls ol yar Rau

o] »

yilstaeudls o oflon Qas | P- | anilstaeudls o sl Ran

1 atmospheric pressure is equal to,

15. A. | 760 mm of Hg B. | zero mm of Hg
C. | 735.6 mm of Hg D. | None of the above

A5 cldloR0ell E6ULL HRAGUR.....

.

A 760 mm of Hg B. zero mim of Hg
C. 735.6 mm of Hg D. None of the above
An isentropic process on T-S diagram is represented by a
16. A. | Horizontal line B. | Vertical line
C. | Inclined line D. | Curved line
As wBAUs ulsaw T-5 2l uR ...... ad ealell usiaL
s, | A sl 2 B. | @ell 2w
C. | ouall 2w D. 1 as du
In isothermal process following of which remains constant,
17. | A.| Temperature B. | Volume
C. | Pressure D. | Entropy
AN cluHlet ysal 1l ol Aot Higll slel uun 28 B.
9. | A | dluntet B. |s¢

C. | eoun D. 1 Rl

18 A fluid is said to be ideal, if it is

A. | Incompressible Inviscous

B
C. | Viscous and incompressible D. | Imviscous and incompressible

s seaus ol vled saAR 58l AslaA waAR d

¢ A, Incompressible B Inviscous
C. Viscous and incompressible D. Inviscous and incompressible
Mercury does not wet the glass. This is due to the property
19. A. | Adhesion B. | Cohesion
C. | Surface tension D. | Viscosity
UlRAell sl opetud ol 512Q st ol ellradl otedl.
q¢c.
A | auals?il B. | 2t ausrwl
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C. |y aw D. | Relouicll
Property of a fluid by which its own molecules are attracted is called
20. A. | Adhesion B. | Cohesion
C. | Surface tension D. | Viscosity
$AS ol sAL oL oll s1RE Wlclioll g ll vs™L B,
0. | A |wuals?w B. |« ausral
C. |y aw D. | Ratouicll
The property of fluid by virtue of which it offers resistance to shear is called
21. A. | Adhesion B. | cohesion
C. | Surface tension D. | viscosity
sqAUS ol sal oL ol 51RAL ellaR waRlu Uel wa B,
4. [A [rualsew B. | 2 ausdul
C. |y awa D. | @woticu
Falling drops of water become spheres due to the property
22. A. | Adhesion B. | cohesion
C. | Surface tension D. | viscosity
o(lA 2usq will sa o ol alms: ool 8.
2. [A [rualsew B. | ausdul
C. |y dwa D. | Gt
A barometer is used to measure
23. A. | Verylow pressure B. | Very high pressure
C. | Atmospheric pressure D. | Pressure diff. between two points
alAxleR g Hival 1 Gualo(l 8.
3. A | ug g dltumist B. | ug Gy dlunlet
C. | dtellerel of goudt D. 1@ (olg 20 a2 ol el clstalel
For pipe flow, laminar flow occurs for value of Reynolds number
24, | A. | Less than or equal to 2000 B. | In between 2000 and 4000
C. | Greater than 4000 D. | None of the above
S olulR ol sl Yol M2 WU Hi Adletr sl 1A 8.
¥, | A 2000 ¥ Al 2y B. 12000 el ¥000 o{l a2
C. %000 s2cll au® D. s vl «él
Pitot tube is used for measurement of
25. | A. | Flow B. | pressure
C. | velocity D. | discharge
[eale eqyo................. Hluel M2 duRld 8
U, Yals B | eouwt
C. | aal D. | Bauef
Bernoulli equation deals with the law of conservation of
26. A. | Energy B. | Mass
C. | Work D. | Momentum
oolell of Yo slotl ALl WA Asadg B,
5. | A | G B. |ea
C. | sl D. | Qotutet

http://www.gujaratstudy.com

4/11




http://www.gujaratstudy.com

Hydrometer is used to determine
27. A. | Density B. | Specific gravity of liquid
C. | Viscosity D. | None of the above
slsglileR g otsfl sal auvd 8.
9. | A | aetell B. |yl ol @Qallxe wetcll
C. | Rowouucll D. |As yal «él
On volume basis air contains following parts of oxygen
28. | A ] 21 B. | 23
c.| 25 D. | 78
SE oll LU sl Hl $ecl YHIBL Hi qslloset sla B.
¢. | A |24 B. |23
C. [2u D. | o¢
For reversible adiabatic process change in entropy is
29, A. | maximum B. minimum
C. | zero D. negative
Rerrfluet ASladdls usglaw Hie A2l HL Ul 32812
¢, [ A | Hern B. | ojotrint
Measurement of temperature is based on
30. | A. | Zeroth law thermodynamics B. | first law thermodynamics
C. | Joule’s law D. | second law thermodynamics
dlutlel of Hiust Asl I B,
30. [ A | adlstasuls ol ot Ran | B | anllstaetodls ol yan Ran
C. |yt ol Ran alstatetills ol ol Ran
The constant volume cycle is called
31. | A. [ Camotcycle B. | Otto cycle
C. | Diesel cycle D. | Joule cycle
AN SE AASA ......8.
3¢, | A | stelle wase B. 1l mase
C | Slwmct aase oGl UASE
Rankine cycle consists of
32. A. | Four processes B. Five processes
C. | three processes D. | six processes
JotsiSol ALASE ... Yslal ol uHd B.
3. [ A | R uslay B | uiuysla
C. oL yslaw D. g ydlay
The thermal efficiency of a Carnot cycle depends on
33. | A. | Design of engine B. | Size of engine
C. | Type of fuel D. | Temperature of source and sink
solle AlaAsA ofl Gullat stal atHcl A WU B
33. | A | Aol ofl SlonSat B. | Yoget ol 252
C. | ool ol ust? D. | Al ael /s ol cliumtot
34 Specific heat of water is
| A ] 0.01 | B. | 0.1
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C. |1 | D. | 097
well ol @Qallxe wotdl ....... D,
3%. | A |0.01 B. 1o
C. [q 0.c9
Second law of thermodynamics defines
35. | A. | enthalpy B. | pressure
C. | volume D. | entropy
alsiastils ol oflasl Qan g ossl 52 B,
3. | A | Aaedl B. | gouel
C. |se D. | a1l
Change of internal energy is proportional to the change of temperature is
36. A. | Boyle’s law B. Joule’s law
C. | Charles’s law D. None of the above
WIS Gl HL Ucll 32512 AlUMlol oll AYHIRL Hi &
36, | A | dlucy ol Ran Bl oget oll Glan
C. | weu « Rax D. 1 Qs yeL o8l
First law of thermodynamics deals with conservation of
37. A. | mass Heat
C. | momentum Energy
lstatet{ls ol yaH R slelt dael Wl dsoudd B.
30. | A [em B. 1 Gwu
C. | Qotuet D. | Gaf
In a steady flow process
A. | The mass flow rate is constant | B. The work transfer rate is constant
38. :
The heat transfer rate is D.
C. | constant All of the above
Al yaldulsan
3¢ | A |eqoll g WU @ D [ B | stel ol yels U @ B
Co 6ot ol yaus mum 28 d [P | GUR oll ol
The work done in free expansion process is
39, A. | minimum B. Maximum
C. | zero D. positive
Hsel [Qacrel yslaw 1l ud sl
3e. | A | oYotntnt B. 1 nenn
C | aeat tot
Petrol engine works on
40. | A. | Constant pressure cycle B. | Joule cycle
C. | Constant volume cycle D. Rankine cycle
UgldBlogat 1l U st
¥0. | A& | Udd sulel wasa B. o aase
C.o [ se nasa 35185l ARASH
41 A refrigeration system works on
) A, | second law thermodynamics | B. | Zeroth law thermodynamics
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C. | first law thermodynamics | D. | None of the above
Rglarralot yslaw Hi ud st
¥a. | A [ adlstaeudlls ol ollsl Ran | B | sullstaetills ol ollol R
C. | suilstaeidls dlyar@Ran NERVEE
For ideal gas, in throttling process the
42. | A. | Volume remains constant B. Temperature remains constant
C. | Pressure remains constant D. All of the above
el g Ylecllal yslaunl
¥2. | A | sE wun 2@ B. | clunlet AUN 8
C. | eour wua 28 GUR oll oLl o
Enthalpy is equal to
43, | A. | U+pPV B. | U-PV
C.| S+PV D. | S-PV
Al wroR
¥3. [A. JU+PV B. |U-PV
C. | S+Pv D. |S-PV
The unit of energy in SI system is
a4. | AT J B. | Jm
C | W D. Jim
God oll WY WS ASH
¥¥. [A [ B. | IJm
C. W D. Jim
One watt is equal to
45. A. 1 N/min B. 10 N/s
D.
C.| 1 Nm/s 100N/s
As dle =
¥U. [A. | 1 N/min B. | 10N/s
C D.
1 Nm/s 100N/s
Carnot cycle is a following cycle
46. A. | Quasi static B. Semi reversible
C. | reversible D. irreversible
solle AlASE ... AASH B
¥s. | A | s wéls B. | Al Razlluc
C | RarRuet SR afluct
Centrifugal pump is an example of
47. A. | Isolated system B. Steady flow system
C. | Closed system D, None of the above
Adlsrpolet Wiv ... of GelgREL B
¥ . AUSAAS syeul B | ddd sell yeuedl
C. | oia yeuell As ULl o8l
Gases have
48. A. | Two values of specific heat B. | Omne value of specific heat
C. | Three values of specific heat D. | No value
¥e. |ay He
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A | [Qelle G ol & Bud B. | (dalle Gt ofl A5 (Bud
C. | @alre Guiu ol 2tal Bud A5 Yol o8l
The general gas equation is
49, A. | Pv=mrt B. | Pv=Rt"
C.| Pv"=c D. | Pv=(t)*
AHL Al YA =
¥€. [A [Pv=mrt B. | Pv=Rt"
C. |Pv=c D. | Pv=(rt)°
Surface tension has the units of
50. A. | N/m2 B. | N/m
C.| N D. | N.m
Y clil ol AsU
WO. TA. | N/m2 B. | N/m
C. N D. N.m
Kinematic viscosity is dependent upon
51. | A.| pressure B. | Distance
C. | flow D. | Density
sl8aANEls Qs8] Aol vuedld &
uq, [A | eounl B. | R
C. lyaes D. | gotel
The continuity equation is connected with
52. A. | Conversion of mass B. | Steady flow
C. | Pipe flow D. | Unsteady flow
58l 8l Yot ... WA As A B
we. | A | e@ oll 3UldR B. | ddd yele
C. Wy ol Yyalé WHddYadld
One horse power is equal to
53. A. | 102 watts B. | 75 watts
C. | 550 watts D. | 745 watts
As glad wWar =
U3. TA. 102 watts B 75 watts
C. 550 watts D. 745 watts
Manometer is used for measurement of
54. | A. | pressure B. | flow
C. | temperature D. | velocity
Qollle? g wwuaGualol &
wy. |A | eouel B. lyas
Co | dturtat aoL
1 litre=
55. A | 1ce B. | 10cc
C. | 100cc D. | 1000 cc
4 cleR =
UL TA T iee B. | 10ce
C. 100 cc D. 1000 cc
Rotameter is used to measure
56. | A. | pressure distance
C. | flow density
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Aatle: g Hiva Guala(l B

us. | A | eoual B. 1 ad?

C. lyas D. | yotdl

10.  Solid and liquid have

57. | A. | One value of specific heat Two value of specific heat

o=

C. | No value of specific heat Non of above

tlol el Yeugl M2

wo. |4 [[QRre Gl of As Yeaul B. | [ Gwu ol Ay

C. QA Guilof Yyt atdl [P |As ugl «1él

The term N.T.P. stands for

A. | Nominal temperature and B. | Normal temperature and pressure
58. pressure
C. | Natural temperature and D. | Normal thermodynamic practice
pressure

N.T.P.o] Y3 ollil

we. | A | ol{lotet diuriet el gonl | B- | ollife ciuntet Al gt

C. | aud diudiol e el | P | et aalstaetn{ls uslau

A sudden fall in the barometer reading is a sign of approaching

59. | A. | Fine weather. B Rain.
C. | Storm. D. | Heat wave.
alAxleR Hi Asen Udl ualsly el B

we. |[A AR dldlaRel B. | arue
Co | cauosly D. 1 oru Aa
37. Diesel engine works on.

60. | A. | Ottocycle B. [ Diesel cycle
C. | Camot cycle D. | None of above
Sled Woget Al et B

s0. | A | el wasd B. | dlovet awaset
C. | sielle uase D. 1 Qs ua 8l
41. Heatengine is

61. | A. | Convert heat into work B. | Convert heat into motion
C. | Convert work into heat D. | None of above
8le Aogel

sq. [ A | Gul of 5] ML 2ULR B. 1 Gul of ol Ml 2uilcR
C. st of Guul Hi FuUict? D. 1dls gl «4l
53. Density of water is maximum at

62. |A. Jo°C B. [0K
C. [4°C D. | 100°C
well ol dotdl saR HetH B

$2. TA. Jo°C B. [0K
C. [4°C D. | 100°C
When a gas is heated , change takes place in

63. A. | Pressure B. | Volume
C. | Temperature D. | All of above
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w212 AU o 2RH SR BUS @y ... HL 3RS A 8.

s3. | A [ eoual B. |s¢
C. cllUHlsl GUR oll ot o

Piezometer is used for measurement of

64. | A. | Pressure B. | Temperature
C. | Flow D. | Velocity
Yl Hle? g xuew Gualloll 8

g¥. | A | eouel B. | cdtustet
The viscosity of liquid is...... with increase in temperature

65. | A. | Decrease B. | increase
C. | Both A and B D. | None of above
yelldl ofl Ralottel cdluniet auiete(l ud

su. | A | u2 B. a8
C A wadBwa D. 1 Qs ve 8l
Which of the following is the unit of kinematic viscosity

66. | A. | Pascal B. | Stock
C. | Poise D. | none of above
518aN8ls (QeslAldl ol Asu

ss. [A [ wesa B 1als
C. | Qe As Ul oél
Entropy is constant in

67. | A. | Polytropic process B. | Isochoric process
C. | Isobaric process D. | Isentropic process
Aldl... Ucdd B

s9. [A [Qellls yslau B laugdlsldls ysdlau
C | sAoudlAs ysdlay wd2Wls uslau
The relation between Cp and Cv is given as follows

68. [A. | CpCv=R B. Cp+Cv =R
C. | Cp/Cv=R D. | CpCv=B
o{lActl Higll Cp and Cv oll 52l dAoitl HA &

S¢. [A. | Cp-Cv=R B. | Cp+Cv=R
C. Cp/Cv =R D. Cp-Cv =B
An adiabatic wall is one which

69. | A. Prevents thermal interaction B. Permits thermal interaction
C. encourages thermal interaction | D. discourages thermal interaction
ASlacléls et g &

se. | A | Gullal uidslan uesd B. | Gu{lat wicislen aucu
C. | Gulla widgla au? Gulat wicslau uestd
Momentum is represented by

70. | A. Mass*velocity B. Mass/velocity
C. Mass-velocity D. | Mass+velocity

90. | Hldeu A.......
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A. | eqxdoL B. | eq/dol
C. | em-Qal £+ AL
EEEEETE LT TEES
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